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QUESTION 1

As part of your backup policy, you configured a local snapshot schedule on your production volume. You review the list
of Snapshot copies and you do not see a snapshot from last night. What are two causes for this problem? (Choose
two.)

A. The volume had 255 Snapshot copies.

B. A storage takeover happened.

C. Snapshot autodelete is enabled.

D. The volume snapshot reserve was decreased.

Correct Answer: CD

QUESTION 2

You are creating a disk-partitioned root aggregate.

Which two rules are enforced automatically when accomplishing this task? (Choose two.)

A. A RAID group cannot have more than one partition from the same disk.

B. A RAID group can have more than one partition from the same disk.

C. The only supported RAID type for aggregates containing root-data partitioned disks is RAID-DP.
D. The only supported RAID type for aggregates containing root-data partitioned disks is RAID 4

Correct Answer: AC

QUESTION 3

Your customer has a 2-node cluster with two FAS2554 controllers running clustered Data ONTAP 8.3. You want to
upgrade non-disruptively to clustered Data ONTAP 8.3.1 using the rolling-upgrade method. Which two operations would
you perform before issuing the ~storage failover takeover - ofnode NodeA~ command? (Choose two.)

A. Upgrade the service processor of all nodes.

B. Migrate all LIFs used for iSCSI and FC away from NodeA.

C. Change the default boot image to the new image.

D. Install the new software image an all nodes.

Correct Answer: BC
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QUESTION 4

Click the Exhibit tab.
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The exhibit shows an overview of a customer\\'s network design. The customer is experiencing ping loss. As part of the

troubleshooting process, you receive output by using the ifgrp status command from the node shell. In this scenario,
what is the customer\\'s problem?

A. The interface group on the controller is not using the default type, causing a connection mismatch with the switch.

B. Link aggregation is not active on the switch, despite being in the design.

C. Virtual interface (VIF) is deprecated in clustered Data ONTAP because the interface group is not working as it
should.

D. Virtual LANs (VLANS) are not used, which causes the interfaces to be overloaded.

Correct Answer: C
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QUESTION 5

Click the Exhibit tab.
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NetApp Release 8.1.2P4 7-Mode: Fri Apr 26 19:57:25 PDT 2013
System ID: 1234567890 (filer123)

System Serial Number: 123456789012 (filer123)
System Rev: F3

System Storage Configuration: Multi-Path
System ACP Connectivity: Full Connectivity
slot 0: System Board 2.3 GH=z {System Board XVI F3)
Model Name: FAS3210

Part Number: 111-00585
Revision: F3

Serial Number: 5001612616
BIOC8 wversion: 5.2.0
Loader version: 3.4
Processors: 2

Frocessor type: Intel (R) Xeon(R) CPU ES5S5220 & 2.33GH=
Memory Size: 5120 MB

Memory Attributes: Bank Interleaving
Hoisting

Rank Interleaving

Normal ECC

NVMEM Size: 640 MB of Main Memory Used

CMOS RAM Status: OK ’
Service Processor Status: Online
Firmware Version: 1.3.1

Mgmt MAC Address: 00:=-R0:58:14:96:00

Ethernet Link: up, 100Mb, full duplex,
Using DHCP: no

IPv4 configuration:

IFPF Address: 10.253.1._.184
Netmask: 2Z55.255.255.0
Gateway: 10.253.1.1

IPve configuration: Disabled
slot 0: Dual 110G Ethernet

o—neg complete

r T220E—-=SFP/ER

R
s—nz—aq.—jm

: Internal
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Device Type: B
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0 Ethernet Controllesr G20 |
:98:14:95:fa (auto-unknown-down)
:aB:98:14:95: fb lauta—unknawn—dnun)

apter 0Oa (PMC-Sierra FM8001 rev. C, Sas, )
-11.00.00 '
al38:0000ebe:80

Enabled, 2.0 Gb/s

QSFP Véndor: Molex Inc.

OSFP Part Number: 112-—-00177+aA0

QSFP Type: Passive Copper 2m ID:01

QSFP Serial Number: 034820513

ID Vendor Model FW Size

01.0 : NETAPP X306 WMANTO2TSSM NAOB 1655.4GBE
01.1 : NETAPP X306 WEOJINO2TSSM NAOOD 1695.4GB

- - -
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A customer receives the AutoSupport messages shown below. "[?] Sat Aug 23 13:00:27 PDT [hostname: env_mgr:
callhome.c.fan.fru.fault:error]: Call home for CHASSIS FAN FRU FAILED: SysFan3 F2

[?] Sat Aug 23 13:00:32 PDT [hostname: env_mgr: monitor.chassisFan.ok:notice]: Chassis fan Sysfan3 F2 is ok"

The output of the sysconfig -a command is shown in the exhibit. In this scenario, what would you do to solve this
problem?

A. Update Data ONTAP to 8.1.4 at the latest patch level.

B. Update the Service Processor firmware.

C. Replace the fan.

D. Disconnect the controller from the mains, wait two minutes, and re-connect it in the next maintenance window.

Correct Answer: B
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